


(x—4)2—9:
=(x*=2-x-4+4°)-9=



(x—4) -9=
=(x*=2-x-4+4*)-9=
=x'—8x+16-9=



(x—4) -9=
=(x*-2-x-4+4*)-9=
=x>-8x+16-9 =

= x> —8x+7



(x—4)2—9= x*—8x+7=
=(x2—2-x-4+42)—9:
=x>-8x+16-9 =

= x> —8x+7



0

(x—4)2—9= x°—8x+7= .
=(x*=2-x-4+4°)-9= =x" =2-x-4+(4 -4)+7
=x>—8x+16-9=

=x*—8x+7



0

(x—4)2—9= x*—8x+7= DN
=(x"=2-x-44+4)-9= =(x"=2-x-44+4)-4"+7=
=x* —8x+16-9 = =(x—4) -16+7 =

= x> —8x+7



(x 4)2 0= x*—8x+7 = 0

_4) 9= _ -
=(x"=2-x-4+4°)-9= =(x*=2-x-4+4)-4+7=
= x* —8x+16-9 = =(x—4) -16+7 =

=x"—8x+7 =(x—4)2—9



(x—4)2—9= x*—8x+7= /_/(L
=(x"=2-x-4+4°)-9= =(x*=2-x-4+4)-4+7=
=x’—8x+16-9= =(x—4) —16+7 =
=x"—8x+7 =(x—4)2—9

Prakticky postup:



0

(x—4)2—9= x*—8x+7 = A
=(x"=2-x-4+4)-9= =(x"=2-x-44+4)-4"+7 =
= x> —8x+16-9 = =(x—4) -16+7=
=x" —8x+7 =(X—4)2—9

Prakticky postup:

x*—8x+7=



(x—4)2—9= x*—8x+7= /_L
=(x*=2-x-4+4°)-9= =(x*=2-x-4+4°)-4+7=
=x*—8x+16-9= =(x—4) —16+7 =
=x"—8x+7 =(x—4)2—9

Prakticky postup:

X .( —|— 7 — 4 =16 — musim odecist 16
-8:2=
@+ 7=



0

2 2
x—4) -9 = x —8x+7=
(v-4) o
=(x*=2-x-4+4°)-9= =(x*-2-x-4+4")-4 +7=
=x* —8x+16-9= =(x—4) —16+7 =
=x" —8x+7 :(x—4)2—9
Prakticky postup:

x2 —+ 7 — 4’ =16 — musim ode¢ist 16
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